ENSURE THAT THESE INSTRUCTIONS ARE LEFT
FOR THE USER AFTER COMPLETION OF THE
BENCHMARK SECTION

MURELLE EQUIPE
220-660

(PACK OF 2-6 MURELLE HE 110 R)

Installation and
servicing instructions

Please read the Important Notice within
this guide regarding your boiler warranty

REGISTER

199838

sime



SAFE HANDLING

This boiler may require 2 or more operatives to move it into its installation site, remove it from its packaging and during
movement into its installation location. Manoeuvring the boiler may include the use of a sack truck and involve lifting pushing
and pulling.

Caution should be exercised during these operations.

Operatives should be knowledgeable in handling techniques when performing these tasks and the following precautions
should be considered:

- Grip the boiler at the base

- Be physically capable

- Use personal protective equipment as appropriate e.g. gloves, safety footwear.

During all manoeuvres and handling actions, every attempt should be made to ensure the following unless unavoidable
and/or the weight is light.

- Keep back straight

- Avoid twisting at the waist

- Always grip with the palm of the hand

- Keep load as close to the body as possible

- Always use assistance

WARNING

Caution should be exercised when performing any work on this appliance.
Protective gloves and safety glasses are recommended.

- Avoid direct contact with sharp edges.

- Avoid contact with any hot surfaces.

NOTICE

Please be aware that due to the wet testing of the appliance, there may some residual water in the hydraulic circuit.
- Protect any surfaces, carpets or floorings.

- Use a suitable container to catch any water that escape when removing the protective caps from the connections.

All descriptions and illustrations provided in this manual have been carefully prepared but we reserve the right to make changes
and improvements in our products that may affect the accuracy of the information contained in this manual.



CONTENTS

MODULAR SYSTEM DESCRIPTION .. ... . e
FRAME ASSEMBLY OF SINGLE MODULE SUPPORT . ... ... e
FITTING CONNECTION AND CONDENSATE DRAIN ... ... ...
CASCADE FLUE ...
CASCADE CONNECTION .. ...
CASCADE MANAGEMENT ...
APPENDIX (GUIDANCE HHIC) . .. ...
APPENDIX 2 (VENTILATION GUIDENCE] . . ... ... e

0 N O o b~ 0N =2

Important Information

16
18
23
24
25
29
M

IT IS A STATUTORY REQUIREMENT THAT ALL GAS APPLIANCES ARE INSTALLED BY COMPETENT PERSONS,
IN ACCORDANCE WITH THE GAS SAFETY (INSTALLATION AND USE) REGULATIONS (CURRENT EDITION). The
manufacturer’s instructions must not be taken as overriding any statutory requirements, and failure to comply

with these regulations may lead to prosecution.

No modifications to the appliance should be made unless they are fully approved by the manufacturer.

GAS LEAKS: DO NOT OPERATE ANY ELECTRICAL SWITCH, OR USE A NAKED FLAME. TURN OFF THE GAS SUP-
PLY AND VENTILATE THE AREA BY OPENING DOORS AND WINDOWS CONTACT THE GAS EMERGENCY SER-

VICE ON 08001119989.

Please refer to commissioning instructions for filling in the checklist at the back of this installation guide.

Note: All Gas Safe registered installers carry a ID Card.
You can check your installer is Gas Safe Registered by calling 0800 408 5577

IMPORTANT

Prior to switching on the boiler for the first time, check the following:
- Make sure that there are no liquids or inflammable materials in the immediate vicinity of the boiler.

- Make sure that the electrical connections have been made correctly and that the earth wire is connected to a

good earthing system.
- Ensure that tightness and let by test have been conducted, including the internal gas pipe work.
- Make sure that the boiler is set for operation for the type of gas supplied.

- Check that the flue pipe for the outlet of the products of the combustion is unobstructed and has been properly

installed.
- Make sure that any isolation valves are open.
- Make sure that the system is filled with water and is thoroughly vented.
- Check that the circulating pump is not jammed.
- Purge the gas supply pipe work.
- Ensure that the checklist is filled in when the commissioning has been completed.



sime

1 MODULAR SYSTEM DESCRIPTION

11 INTRODUCTION

This manual is for the construction mainte-
nance and operation of a modular unit com-
posed of multiple premixed condensation
boilers in the MURELLE EQUIPE 220-660
series linked in sequence/cascade inde-
pendently of one another.
The packages are provided with the fol-
lowing codes:
- MURELLE EQUIPE 220
Boilers and Mounting Frames and Hea-
ders code 8001220
Low Loss Header Connection Kit code
8101532
Low Loss Header code 8101552

12 DIMENSIONS AND FITTINGS

Cascade Flue code 9000220

MURELLE EQUIPE 330

Boilers and Mounting Frames and Hea-
ders code 9001330

Low Loss Header Connection Kit code
8101532

Low Loss Header code 8101552
Cascade Flue code 9000330

MURELLE EQUIPE 440

Boilers and Mounting Frames and Hea-
ders code 9001440

Low Loss Header Connection Kit code
8101533

Low Loss Header code 8101553
Cascade Flue code 9000440

- MURELLE EQUIPE 550

Boilers and Mounting Frames and Hea-
ders code 9001550

Low Loss Header Connection Kit code
8101533

Low Loss Header code 8101553
Cascade Flue code 9000550

MURELLE EQUIPE 660

Boilers and Mounting Frames and Hea-
ders code 9001660

Low Loss Header Connection Kit code
8101533

Low Loss Header code 8101553
Cascade Flue code 9000660

VENTILATION, for guidance see APPEN-
DIX 2.

Note: The low loss header and flue can be positioned to exit at either the left or right hand side.

1.21  MURELLE EQUIPE 220-330 (fig. 1/a)

T
o
o0
~
M [ % -
o L
e =
N
R [ A 1
T
© ) o | L '. i 1
()
: 1 T
380 260 L
FIXTURES B:MEII\IIS|EDN$
M C.H. flow (Flange PNB-DN100) L ur;:ﬂ quipe
R C.H. return (Flange PNB-DN100) o
G Gas (Flange PNB-DN50) mm
D mm

S3 Condensation drain g 40

155

220 330
1104 1656
2292 2326
200 200

Fig. 1/a




1.2.2 MURELLE EQUIPE 440-550 (fig. 1/h)

sime

155

*
3 -
L
2 5
S3 | q} @
) : ‘
- o G | |
g P G
©
S ]
] 131 |
374
620
FIXTURES DIMENSIONS
M  CH. flow (Flange PN6-DN100) Murelle Equipe 440 550
R CH. return (Flange PNB-DN100) L mm 2208 2760
G Gas (Flange PNB-DN50) H mm 2360 2394
S3 Condensation drain g 40 D mm 200 200 Fig. 1/b
12.3 MURELLE EQUIPE 660 (fig. 1/c)
2200 154,

635

550

1780

Kit - 8101553

500 590

3314

2428

FIXTURES

M
R
G
S3

C.H. flow (Flange PNB-DN100)
C.H. return (Flange PNB-DN100)
Gas (Flange PNB-DN50)
Condensation drain g 40

Fig. 1/c




sime

13 TECHNICAL SPECIFICATIONS MURELLE EQUIPE 220-550

MURELLE EQUIPE

Heat output

Nominal (B0O-80°C) kW
Nominal (50-30°C) kW
Minimum (80-80°C) kW
Minimum (50-30°C) kW
Nominal heat input kW
Minimum heat input kW
Min/max operating yield (80-60°C) %
Min/max operating yield (50-30°C) %
Operating yield at 30% (40-30°C) %
Energy yield markings (CEE 92/42)

Losses after shutdown to 50°C (EN 483) W
MURELLE HE 110 R generators n°
Feeding tension V-Hz
Absorbed power consumption W
Electrical protection grade

Single module temperature regulation °C
Water content modules I
Max operating pressure bar
Max operating temperature °C

Exhaust temperature at max flow rate (80-60°C) °C
Exhaust temperature at min flow rate (80-60°C) °C
Exhaust temperature at max flow rate (50-30°C) °C
Exhaust temperature at min flow rate (50-30°C) °C

Smokes flow min/max g/s
CO2 at min/max flow rate (G20) %
COz2 at min/max flow rate (G31) %
Max. output pressure fumes manifold Pa
Max. pressure independent fumes Pa
CE certification n°
Category

Type

NOx class

Nozzle

Number n°

Nozzle diameter G20
Nozzle diameter G31

Consumption at nominal/minimum output

Nominal G20 m3/h
Minimum G20 m3/h
Nominal G31 kg/h
Minimum G31 kg/h
Supply pressure

G20 mbar

G31 mbar

220

2112 (2 x 105.6)
229.2 (6 x 114.6)
21
236

218.0 (2 x 108.0)
218

97.7/978
1091,/10611
105.6
* % K
252 (2 x 126)

23050
B18 (2 x 309)
IPX4D

20,80
16.4 (2 x 8.2)
5
85

86.2
746
B18
492

37,372
9.0/9.0

102/102

375
428

124
8.2

22.84 (2 x 11.42)
2.28

18.76 (2 x 8.38)
168

20
37

330 440 550

316.8 (3x 105.8) 4224 (4x105.6) 528.0 (5 x 105.6)
3438 (3x 114.8) 4584 (4x 1148) 573.0 (2 x 114.8)
211 211 211
236 236 236
324.0 (3 x 108.0)

4320 (4 x 108.0) 5400 (5 x 108.0)

21.6 21.6 21.6
97.7/978 97.7/978 97.7/978
1091,/1061 1091,/1061 1091,/1061
105.6 105.6 105.6
* %k &k * %k %k * %k k
378 (3 x 128) 504 (4 x 126) B30 (5 x 126)
3 4 5
230-50 230-50 230-50
927 (3 x 309) 1236 (4 x 309) 1545 (5 x 309)
IPX4D IPX4D IPX4D
20/80 20/80 20,80
246 (3x8.2) 328 (4 x82) 410 (5x8.2)
5 5 5
85 85 85
86.2 86.2 86.2
74.6 74.6 74.6
61.6 61.6 61.6
49.2 49.2 49.2
37,/558 37/744 37,/930
9.0/9.0 9.0/9.0 9.0/9.0
10.2/10.2 10.2/10.2 10.2/10.2
375 375 375
428 428 428

1312CM5614
ll2H3P
B23-53/B23P-53P,/C13-33-43-53-83
5 (< 30 mg/kWh)
1 1 1
12.4 12.4 12.4
8.2 8.2 8.2

34.26 (3x 11.42) 4588 (4 x 1142) 5710 (5 x 11.42)

2.28 2.28 2.28
2514 (3x8.38) 3352 (4x8.38) 4190 (5 x 8.38)
168 168 168
20 20 20
37 37 37



14 TECHNICAL SPECIFICATIONS MURELLE EQUIPE 660

MURELLE EQUIPE

Heat output
Nominal (B0O-80°C)
Nominal (50-30°C)
Minimum (80-80°C)
Minimum (50-30°C)

Nominal heat input
Minimum heat input

Min/max operating yield (80-60°C)
Min/max operating yield (50-30°C)
Operating yield at 30% (40-30°C)

Energy yield markings (CEE 92/42)
Losses after shutdown to 50°C (EN 483)

MURELLE HE 110 R generators

Feeding tension
Absorbed power consumption
Electrical protection grade

Single module temperature regulation
Water content modules

Max operating pressure

Max operating temperature

Exhaust temperature at max flow rate (80-60°C)
Exhaust temperature at min flow rate (80-60°C)
Exhaust temperature at max flow rate (50-30°C)
Exhaust temperature at min flow rate (50-30°C)
Smokes flow min/max

CO2 at min/max flow rate (G20)

COz2 at min/max flow rate (G31)

Max. output pressure fumes manifold
Max. pressure independent fumes

CE certification
Category

Type

NOx class

Nozzle

Number

Nozzle diameter G20
Nozzle diameter G31

Consumption at nominal/minimum output
Nominal G20

Minimum G20

Nominal G31

Minimum G31

Supply pressure
G20
G31

kW
kW
kw
kW

kW
kW

%
%
%

V-Hz

°C

bar
“C

°C
°C
€
°C
g/s
%
%

Pa
Pa

m3/h
m3/h
kg/h
kg/h

mbar
mbar

sime

660

633.6 (6 x 105.6)
6876 (6 x 114.5)
21
236

848.0 (6 x 108.0)
216

97.7/978

1091,/10611
105.6

* % K

756 (6 x 126)

23050
1854 (6 x 309)
IPX4D

20/80
492 (6x82)
5
85

86.2
74.6
B1.8
492

37,/1118
9.0/9.0

10.2/102

375
428

1312CM5614
ll2H3P
B23-53/B23P-53P/C13-33-43-53-83
5 (< 30 mg/kWh]

124
8.2

68.52 (6 x 11.42)
2.23
50.28 (6 x 8.38)
168

20
37



sime

15  HYDRAULIC CIRCUIT (fig. 2)

/
/
/,
1
26
KEY 19 —
1 Cascade supply probe (SMC) 20 —
2 Low Loss Header 21 —
3 Loss Header Connection Kit 22 3-way drain tap
5 Condensate drain trap 23 System supply tap
6 Gas valve 24 Single module drain
7 — 25 Gas tap
8 Fan 26 8 litre expansion tank (supplied with connection kit)
9 Heating supply probe (SM) 27 Safety valve 5 bar
10 Safety thermostat 95°C 29 —
11 Exhaust probe (SF) 30 —
12 Primary exchanger
14 Heating return probe (SR) FIXTURES
15 Water pressure transducer M CH. flow
186 Air release vent R CH. return
17 Check valve G Gas
18 Shunt pump S3 Condensation drain Fig. 2

16 AVAILABLE PREVALENCE TO THE SYSTEM, COLLECTORS DELIVERY AND SUPPLY FITTINGS
MURELLE EQUIPE 220-550 (fig. 3)

800 1 — ‘
=\
600 \\ N

N
NN

Murelle Equipe

/1

500 \ \
3 (EAVNA NN
£ 400 \ % \ > i 3,
o ‘u> 79 0\
< \ . ) (% $
300 (o) e ON
5 1\% AN
200 S 7
us}
(@)
100 *
0 5 10 15 20

CAPACITY (m3/h) Fig. 3




sime

17 AVAILABLE PREVALENCE TO THE SYSTEM, COLLECTORS DELIVERY AND SUPPLY FITTINGS

MURELLE EQUIPE 660 (fig. 3/a)

800

700

600

Murelle Equipe 660

500

400

Ap (mbar)

300

200

100

AN

CAPACITY (m3/h)

20

Fig. 3/a

18 PRESSURE DROPS OF THE HYDRAULIC COMPENSATOR SUPPLIED UPON REQUEST WITH KIT CODE 8101553 (fig. 4)

200
150 //
= /
é / /
— 100
Q
<
50 ~
P
0 5 10 15 20 25 30 35 40 435
CAPACITY (m3/h)
Fig. 4
19 INTERFACE WITH OTHER - thermoregulator RVS code 8092255 All devices are supplied with instructions for
ELECTRONIC DEVICES - mixed zone kit code 8092252 installation and use.
OPTIONAL - INSOL kit code 8092254

The electronic boiler board is prepared for
the application of the following electronic
devices to be requested separately:

- climate regulator CR 53 code 80922227
- remote control CR 73 code 8092226

RS-485 kit code 8092244 which allows
to MODBUS communication cascade boi-
lers

additional casing board code 8092236
when you connect mixed zone or insol
board.

For the configuration of devices CR 53, CR
73 e RVS with electronic boiler board set
PAR 10.
To access the installer parameters see sec-
tion 6 (RS-485 board for cascade mana-
gement).



10

sime

110

COMPOSITION OF THE KIT (fig. 5)

- N. 2 frames code 6294800 (MURELLE EQUIPE 220)
- N. 3 frames code 8294800 (MURELLE EQUIPE 330)
- N. 4 frames code 6294800 (MURELLE EQUIPE 440)
- N. 5 frames code 6294800 (MURELLE EQUIPE 550)

- N. 6 frames code 6294800 (MURELLE EQUIPE 660)

Fig. 5/a

- N. 2 collector support brackets code 62948111 (MURELLE EQUIPE 220-330)

- N. 4 collector support brackets code 62948111 (MURELLE EQUIPE 440-550-660)

Fig. 5/b

N. 2 polyurethane coated delivery/return collectors code
6291940 with gasket and M12 fixing screws and N. 1 gas
collectors code 6286330 (MURELLE EQUIPE 220)

- N. 2 polyurethane coated delivery/return collectors code
6291941 with gasket and M12 fixing screws and N. 1 gas
collectors code 6286331 (MURELLE EQUIPE 330)

- N. 4 polyurethane coated delivery/return collectors code
6291940 with gasket and M2 fixing screws and N. 2 gas
collectors code 6286330 (MURELLE EQUIPE 440)

- N. 2 polyurethane coated delivery/return collectors code
6291940 + N. 2 polyurethane coated delivery/return collec-
tors collectors code 6291941 with gasket and M12 fixing
screws, N. 2 gas collectors code 6286330 + N. 1 gas col-
lectors code 6286331 (MURELLE EQUIPE 550)

- N. 4 polyurethane coated delivery/return collectors code
6291941 with gasket and M12 fixing screws and N. 2 gas
collectors code 6286331 (MURELLE EQUIPE 660)

Fig. 5/¢c




sime

- N. 1 blind flange PN6 DN 50 for gas collector with gasket
and fixing screws, code 6105150

- N. 2 blind flanges PNB6 DN 100 for system delivery/return
collectors with gasket and fixing screws, code 6105155

Fig. 5,/d

- N. 1 condensate drain collector consisting of 2 fittings, 2 tubes
and 1 cap. Moreover, the collector is supplied with brackets,
nuts and M8 fixing screws (MURELLE EQUIPE 220)

- N. 1 condensate drain collector consisting of 3 fittings, 3 tubes
and 1 cap. Moreover, the collector is supplied with brackets,
nuts and M8 fixing screws (MURELLE EQUIPE 330)

- N. 1 condensate drain collector consisting of 4 fittings, 4 tubes
and 1 cap. Moreover, the collector is supplied with brackets,
nuts and M8 fixing screws (MURELLE EQUIPE 440)

- N. 1 condensate drain collector consisting of 5 fittings, 5 tubes
and 1 cap. Moreover, the collector is supplied with brackets,
nuts and M8 fixing screws (MURELLE EQUIPE 550)

- N. 1 condensate drain collector consisting of 6 fittings, 6 tubes
and 1 cap. Moreover, the collector is supplied with brackets,
nuts and M8 fixing screws (MURELLE EQUIPE 660)

45° fitting code 6034301

Plastic tube code 6034301

Cap code 6034303

- N. 2 kit of three-way/gas delivery/return cocks with connection
tubes, nipple 1", check valve and gaskets (MURELLE EQUIPE 220)

- N. 3 kit of three-way/gas delivery/return cocks with connection
tubes, nipple 1", check valve and gaskets (MURELLE EQUIPE 330)

- N. 4 kit of three-way/gas delivery/return cocks with connection
tubes, nipple 1", check valve and gaskets (MURELLE EQUIPE 440)

- N. 5 kit of three-way/gas delivery/return cocks with connection
tubes, nipple 1", check valve and gaskets (MURELLE EQUIPE 550)

- N. B kit of three-way/gas delivery/return cocks with connection
tubes, nipple 1", check valve and gaskets (MURELLE EQUIPE 660)

CAUTION: Before assembling the three-way drain cocks, direct the ball
regulator shaft as indicated in the figure.

NIPPLE

3/4 SHAFT DIRECTION
BALL ADJUSTMENT

DRAIN
CURVE

RETURN
COLLECTOR

Fig. 5,/f

1M1



12

sime

MURELLE EQUIPE 220

COD. 5192961

COD. 5192954

COD. 6296530
L=170

L=170
MURELLE EQUIPE 330

COD. 5192961

COD. 5192854

COD. 6296530
L=170

COD. 6296530
L=170

MURELLE EQUIPE 440

COD. 5192961

COD. 5192854

COD. 6296530
L=170

§ COD. 5192954

COD. 6296530
L=170

‘@ COD. 5192954
COD. 6296530 g

- MURELLE EQUIPE 220 fume exhaust unit consisting of:
N. 2 @ 200 collectors code 5192954
N. 2 L. 170 g 80 extensions code 6296530
N. 1 collector closure code 5192961

- MURELLE EQUIPE 330 fume exhaust unit consisting of:
N. 3 @ 200 collectors code 5192954
N. 3 L. 170 g 80 extensions code 6296530
N. 1 collector closure code 5192961

- MURELLE EQUIPE 440 fume exhaust unit consisting of:
N. 4 @ 200 collectors code 5192954
N. 3 L. 170 g 80 extensions code 6296530
N. 1 L. 250 g 80 extensions code 6296513
N. 1 collector closure code 5192961

CAUTION: Use silicone grease to ease the connection of
the flue components.

‘% COD. 5192854

‘% COD. 5192954

COD. 6296530 @
L= 170

g COD. 5192954
COD. 6296530 g
L=170 COD. 5192954

COD. 6296513
L=250

Fig. 5/9




sime

COD. 5192861

COD. 5182954

COD. 6286530
L=170

S

COD. 5192854

COD. 6296530
L=170

g

COD. 5192954

COD. 6296530
L=170

- MURELLE EQUIPE 550 fume exhaust unit consisting of:
N. 5 2 200 collectors code 5192954
N. 3 L. 170 2 80 extensions code 6296530
N. 2 L. 250 g 80 extensions code 6296513
N. 1 collector closure code 5192961

CAUTION: Use silicone grease to ease the connection of the flue compo-
nents.

COD. 5192954

COD. 6296513
=250

COD. 6296513
L=250

COD. 5192854

5

Fig. 5,/h

COD. 5192961

¥

COD. 5192854

COD. 6296530
L=170

g COD. 5192854

COD. 6296530
L=170

g

COD. 6296530
L=170

COD. 6296513
L=250

- MURELLE EQUIPE 660 fume exhaust unit consisting of:
N. B @ 200 collectors code 5192954
N. 3 L. 170 g 80 extensions code 6296530
N. 3 L. 250 g 80 extensions code 6296513
N. 1 collector closure code 5192961

CAUTION: Use silicone grease to ease the connection of the flue compo-
nents.

g COD. 5192954 N

COD. 5192854

COD. 6296513
L=250

% COD. 5182854

COD. 6296513
L=250

5

Fig. 5/

13



14

sime

- N. 1 sensor kit, code 8092250 with
external temperature sensor (SE],
cascade delivery sensor (SMC) and RS-
485 board connection cable

NOTE: Section 5 show the electrical con-
nection for the sensors.

Fig. 5/

111 KIT CODE 8101532 MURELLE EQUIPE 220-330
(to be requested separately) (fig. 6)

- N. 1 kit with collector delivery/return tube, code
6291968, 8 litres expansion vessel, code 6245108,
expansion vessel connection tube, code 6227661, redu-
ced nipple 1” - 3/4”, code 2040252, gaskets, nuts and
M6 fixing screws

Fig. 6




sime

112 KIT CODE 8101533 MURELLE EQUIPE 440-550-660
(to be requested separately] (fig. 7)

- N. 1 kit with collector delivery tube, code
62818689, collector return tube, code
6291971, 8 litres expansion vessel, code
6245108, expansion vessel connection tube,
code 6227661, reduced nipple 1” - 3/4”, code
2040252, gaskets, nuts and M16 fixing
screws

Fig. 7
113 CODE 8101552 MURELLE EQUIPE 220-330 (to be requested separately) (fig. 8)
- N. 1 hydraulic compressor with gaskets, nuts
and M6 fixing screws
Fig. 8
114 CODE 8101553 MURELLE EQUIPE 440-550-660 (to be requested separately] (fig. 9)
0=
- N. 1 hydraulic compressor with gaskets, nuts o7
and M6 fixing screws
A
Fig. 9

15



16

2

sime

FRAME ASSEMBLY OF SINGLE MODULE SUPPORT

Assemble the boiler supports using the TE M8 x 75 screws and the L=52 spacer.
Secure the assembled frames to the wall or other secure structure.

ol

WALL FIXING HOLES




sime

7/
/7

Heo-——o-o-o}
f

Mount the collector supporting brackets, fastening them to the frame using the
washers and M10 nuts.

The position where to place the washer and bracket blocking nut is indicated by
two arrows in correspondence with the frame studs to be used.

Mount the supports of the condensate drain collector; fastening them to the
supporting brackets, using the M5 screws.

17



18

3

sime

FITTING CONNECTION AND CONDENSATE DRAIN

Place the condensate drain collector inside the appropriate support.
Connect the condensate drain of each module to the collector.

Condensate drain
connection
to the boiler




sime

Mount the blind flanges with gaskets to the gas header N /0 0/ <o
using the screws and M12 nuts. . \Q//
Secure the gas header using the screws, washers and N
M8 nuts.

N

|

// - i

)
. . . g ! D 1

Mount the blind flanges with gaskets to the ‘\1\""/ !l\j/)(//ff‘\‘A =~ ‘,_f

i : ~ = 4 I ==
delivery/return headers using the screws and M12 \\kg// I/( /,j////’/ N

. (N
nuts. Secure them to the brackets using the screws, N\ //0 y
1
washers and M8 nuts. !‘,‘ 9

19



sime

20

M CH. flow
R CH. return
G Gas

Mount the series of three-way drain cocks
and the system delivery/gas cocks to the
relative collectors and connect the tubes to
the fittings of the boiler using the respective
gaskets.

CAUTION: Before assembling the three-
way drain cocks, reposition the ball regula-
tor shaft as indicated in the figure.

W
A7

A
G

L

()

~—

SHAFT DIRECTION

NIPPLE 3/4"
BALL ADJUSTMENT

DRAIN
CURVE

— ||

LEVER ASSEMBLY POSITION

RETURN
COLLECTOR




sime

Low Loss Header connection kit (to be
requested separately).

Use the gaskets with screws and
M6 fixing nuts for the assembly.

MURELLE EQUIPE 220-330

MURELLE EQUIPE 440-550-660

21



22

sime

e Low Loss Header ([to be requested MURELLE EQUIPE 220-330

separately).

Use the gaskets and fasten it to the
connection outlets using the screws
and M16 nuts provided.

MURELLE EQUIPE 440-550-660




4  CASCADE FLUE

sime

Provided with each
boiler there is a o 80
rubber gasket to be

placed

fume exhaust unit, as
shown in the figure.

Assemble the cascade flue as shown. use silicone grease to
ease connection of the components.

The flue can be orientated to the left or the right, but always
must fall to the condensate drain.

CAUTION: The boiler becomes a C-type appliance
when the intake terminal is removed from the flange
and the intake is connected.

In these cases, use @ 80 polypropylene accessories,
authorised and customised by SIME (refer to the
instruction manual provided with the boiler).

inside the

)

When boilers are used with a cascade flue PAR
1 on each boiler must be reset.

On natural gas PAR 1 =8

On LPGPAR 1 = 16

To access the INST parameters and configure
PAR 9, press the INSTALLER BUTTONS [ &
and ] simultaneously for 2 seconds.

Parameter 1 will be displayed. Change the
values use the buttons [E and ].

After 60 seconds, the INST parameters will be
exited automatically or by pressing one of the
command buttons (2), except the RESET.

1
INSTALLER !
BUTTONS 1

»
i [ larem;

~

23



d31109 9 d31109 s d31ioga v d3110g € d31iogd e d3nog L

:m.ﬁﬁ ::ﬁf@ ;ml‘c ::ﬁf@ ;ml‘c ::q:
nnanng nnannm nannan nnann NS nannnn Q3s 1o
G87-SY G87-SY a8h-SY G87-SY G87-SY a8p-SY
(s 3AvIs) o (¥ 3AVIS) - CEN A (zanvis) (1 3AVIS) o (4aLsvim)  —
e 1= s T S T " T T 1=
ElS € HH ] HE MK
WME N mmE " WE Y mmﬂ Y t R W WE 4

CASCADE CONNECTION

sime

5

=z

?

[el=]

[-]e

[el=]

de delivery sensor (SMC]) to the SLAVE 1 module.

The external temperature sensor (SE] must be
connected to the MASTER module and the casca-

o Connect the RS 485 boards as shown.

ZH 05-A 0€Z

r

24



sime

6 CASCADE MANAGEMENT

After connecting in cascade the boilers must be configured.
One boiler must be assigned as the master and others as slaves.
To do this PAR 15 on each boiler must be reset.

$>
On each boiler press any key to wake up the display. Then press simultaneously the @ and the buttons for

5 seconds until the display is as shown.

*

SET "

n
PARL ¢

Press the @ key until PAR 15 is shown in the bottom right hand corner.

Using the E and keys reset the value accordingly.

On the MASTER set PAR 15 =0
On the first SLAVE set PAR 15 =1
*Second SLAVE set PAR 15 =2, Third SLAVE = 3, Fourth SLAVE =4, and Fifth = 5.

1
q

To confirm the setting press \e/

*CASCADE WITH MORE THAN TWO BOILERS

When more than two boilers are connected in cascade, it is essential that the OEM parameter on the “Master” boiler
is reset to coincide with the number of boilers in the cascade.

This must be done after setting PAR 15 on the designated Master boiler to “0”

On the “Master” boiler press any key to wake up the display. Then press simultaneously the and the

>
buttons for 5 seconds until the display is as shown.

*
SET

(R

>
Then press again, simultaneously, the @ and the buttons for 2 seconds until the display shows.

L ed

MNext press, in the order shown l_+-) ;] (c—"] .

The display will be as shown.

[ INsTALLER |

BUTTONS

,,,,,,,,,,,,,,,,,,,,,,

W AD | 0] Y
Press the button, and the display will show @

Use the and E buttons to set the number of boilers in the cascade. ——

g
Then press \-E-/ to confirm the settings.

25



sime

Service Record

It is recommended that your heating system is serviced regularly and that the appropriate Service Interval Record is completed
of any extended warranty offered.

Service Provider

Before completing the appropriate Service Record below, please ensure you have carried out the service as described in the
manufacturer’s instructions.

Always use the manufacturer’s specified spare part when replacing controls.

. This is also a condition

Service 1  Date: Service 2  Date:

Engineer Name: Engineer Name:

Company Name: Company Name:

Telephone No. Telephone No.

Gas Safe Register No. Gas Safe Register No.

Comments CO: CcOo2: RATIO: Comments CO: Cco2: RATIO:
Signature: Signature:

Service 3  Date: Service 4  Date:

Engineer Name: Engineer Name:

Company Name: Company Name:

Telephone No. Telephone No.

Gas Safe Register No. Gas Safe Register No.

Comments CO: CO2: RATIO: Comments CO: CO2: RATIO:
Signature: Signature:

Service 5 Date: Service 6  Date:

Engineer Name: Engineer Name:

Company Name: Company Name:

Telephone No. Telephone No.

Gas Safe Register No. Operative ID No.

Comments CO: COo2: RATIO: Comments CO: CcO2: RATIO:
Signature: Signature:

Service 7 Date: Service 8  Date:

Engineer Name: Engineer Name:

Company Name: Company Name:

Telephone No. Telephone No.

Gas Safe Register No. Gas Safe Register No.

Comments CO: CO2: RATIO: Comments CO: CO2: RATIO:
Signature: Signature:

Service 9  Date: Service 10 Date:

Engineer Name: Engineer Name:

Company Name: Company Name:

Telephone No. Telephone No.

Gas Safe Register No. Gas Safe Register No.

Comments CO: CO2: RATIO: Comments CO: CO2: RATIO:
Signature: Signature:

26



sime

a1eq

Ag pai1s|dwo)

Jaquiny |elas

9zIs Ja|log

oney

% ¢0D

wdd 0D

Xen

UIN

Xen

UIN

Xen

UIN

Xen

UIN

xew|  winl  xew|  unnl o xew|  win] o xew| unw] anding Jsjiog

849|109

L 439|109

9 J9|log

§ J9]log

v 439|109 € Jajlog z J9j0g T Jaj10g] sisAjeue an|4

N/A 1N0 S320| J3]10q 3y} - 3109UU0dsIq - (S1)ie1s Bwtmm_

N/A S921Aap Ajajes 1sa]

N/A @|9e3s s! pue s31ysi| 439|100 2JNSUS PUE AN0XI0| 43|10 19534 ‘DA|BA SES 109UU0IRY

N/A 3n0 s$320| uleSe Jaj10q Sulinsua ‘AJ324 pue IN0XJ0| 43|10q 1353y

N/A 3n0320| 01 s908 J3|10q JNSUd pue
(SA]eA sed 199uu0dsip)Jaulng ulew a3e|os| pue J3jioq 03 Ajddns sed uo uing

N/A 9JBS S|Ie} J9|10q 34NSU 01 PaIe|OSI SES YUM J3]10q 40 1533 uoliudi InoAsie)

N/A SIA[BA |[B 40 SSaulySu ¥29y)D

N/A PIN}} uondaiap yes| Suisn
9Ajen Sune|os| Jo weasisumop yJomadid uone||eisul Jo ssauysil wayuod

N/A Pa1eulwJal Aj30a4400 pue yi3ua| 3jgemoj|e uiyim anj4

N/A @n}4 40 323Yd |ensiA Aloldoeysnes

J93ul18u3
¥29Yd Alajes uone||eisul [|n} e 1ou S| pue ‘AjJuo 2auaping 404 S1 1S1HI9Yd Siy L

SS24ppPY

apease) ul siajlog 404 1s1]p23yD Suluoissiwwo)

27



sime

21eq

Ag paisjdwo)

Jaquiny |eLas

2zIs Jajlog

oney

% ¢0D

wdd 0D

xew| winl  xew| unal o xew|  unal xew|  uwin] o xew|  wial o xew|  uial o xew|  uial xew|  wiw] andino Jajiog

g 193|109 £ 19)109 913|109 g Ja|i0g v 13109 € Jajl0g z Ja|109 1 Ja|10g| sisAjeue anj4

N/A 1IN0 $320] J3|10q 3Y3 - 193Uu03sId - (S1)ieis A1ajes

N/A S321nap A1ajes 1539

N/A 2|9eis si pue s3ysi| 49|10q 34NSUS pue ‘IN0XI0| J3]10q 1953J ‘DA|BA SES 108UU0IY

N/A In0 sy20| utede Jaj10q ulansua ‘A13a) pue 1nox20| J3|10q 1959Y

N/A 3IN0X20| 01 S203 J9|I0q 3uNSua pue
(3njen sed 108uu0ds|p)Jauang ulew 31e|os| pue J43jioq o3 Ajddns sed uo uiny

N/A 24€s s|ie} J3]10q 3JNSUD 0} P3e|0S| SeF YIM J3]10q 4O 1S3} UOLHUS] IN0ALIRD

N/A S3A[BA ||e JO ssaulysL 3oay)

N/A PInj} uopdalap yea| guisn
aAjeA Sune|os| Jo weasisumop yiomadid uone|jeisul o ssaurysi] wayuod)

N/A pPa1eulw.al Aj1294400 pue yi8ua| 3|qemoj|e ulylm an|4

N/A @n}4 40 323y |ensia Alooejsies

mmb_.__H_ Aypuenp £PasN sem Ja3qIyul ey

£PasN sem Jasuea|d waisAs 1By

mm_>_H_ ¢SUOIIBPUBWIWOIA S3J3JNIIEBJNUBW PUB £6G/SF YlIM 90UBPIOIIE Ul PBUBI|I PUB paysn|} uaaq walsAs ayl seH
swalsAs |1V
aJnileudis
a1eQ Jaauidu3 Suluoisiwwo) SS3JIppPY

yoayd A1ajes uone|eisul [|n4 e 10U S| pue ‘Ajuo asueping 4o} si ISIPP|Y SIYL
apedse) ul siajiog pue siajiog 3|8uIS Y OTT IH d||24INIA 4104 1sI]P3YD) SuluoisSILwo)

28



7

sime

APPENDIX (GUIDANCE HHIC)

HHIC

HEATING & HOTWATER INDUSTRY COUNCIL

INDUSTRY GUIDANCE FOR INSTALLERS ON CONDENSATE

DRAINAGE PIPE INSTALLATION

This guidance is endorsed by HHIC members.
1. BACKGROUND

During recent winters the UK has experienced prolonged spells of extremely cold weather -
down to minus 20°C and below in many areas. This resulted in a significant increase in the
number of calls to boiler manufacturers and heating engineers from householders with
condensing (high efficiency) boilers where the condensate drainage pipe had frozen and
become blocked with ice, causing the boiler to shut down. In the vast majority of cases such
problems occur where the condensate drainage pipe is located externally to the building for
some part of its length.

British Standards, Building Regulations etc. currently allow condensate drainage pipes to be
run either internally or externally, or a combination of these. These documents give guidance
on how to install the pipes in order to reduce the possibility of freezing. However this
guidance may not be sufficient to prevent freezing in extreme conditions - with widespread
and prolonged very low temperatures.

In view of the possibility that UK weather patterns will show more “extremes” in future due to

the effects of global climate change, the following guidance updates previous
recommendations on condensate drainage pipe installation. All other technical requirements
for condensate drain installation given in British Standard BS 6798:2009, or in boiler
manufacturers’ installation instructions should still be followed.

2. REVISED GUIDANCE ON CONDENSATE DRAINAGE PIPE INSTALLATION

Where a new or replacement boiler is being installed, access to an internal “gravity
discharge” termination should be one of the main factors considered when determining
potential boiler locations, so that the condensate drainage pipe can be terminated as
recommended below. On an existing installation, the guidance below should also be
followed if work is carried out to “upgrade” the condensate drain age system to reduce the
risk of freezing in extreme conditions.

Internal condensate drainage pipework must be a minimum of 19mm ID (typically 22mm OD)
plastic pipe and this should “fall” at least 45 mm per metre away from the boiler, taking the
shortest practicable route to the termination point.

In order to minimise the risk of freezing during prolonged very cold spells, one of the
following methods of terminating condensate drainage pipe should be adopted -

29



30

sime

HHIC

HEATING & HOTWATER INDUSTRY COUNCIL

2.1 INTERNAL TERMINATION:

Wherever possible, the condensate drainage pipe should be terminated at a suitable internal
foul water discharge point such as (a) an internal soil and vent stack or (b) an internal
kitchen or bathroom waste pipe, washing machine waste pipe etc. A suitable permanent
connection to the foul waste pipe should be used. Figures 1, 2(a), 2(b) show appropriate
connection methods.

The possibility of waste pipes freezing downstream of the connection point should be
considered when determining a suitable connection point - e.g. a slightly longer pipe run to
an internal soil stack may be preferable to a shorter run connecting into a kitchen waste pipe
discharging directly through the wall to an external drain.

Where “gravity discharge” to an internal termination is not physically possible (e.g. the
discharge point is above the appliance location, or access is obstructed by a doorway), or
where very long internal pipe runs would be required to reach a suitable discharge point, the
following measures may be adopted -

2.2 USE OF A CONDENSATE PUMP (TO AN INTERNAL TERMINATION):

Condensate can be removed using a proprietary condensate pump, of a specification
recommended by the boiler or pump manufacturer.

The pump outlet should discharge to a suitable internal foul water discharge point, such as
(a) an internal soil and vent stack or (b) an internal kitchen or bathroom waste pipe, washing
machine waste pipe etc. Figure 3 shows a typical connection method.

A suitable permanent connection to the foul waste pipe should be used and the
manufacturer’'s detailed installation instructions for the pump should be followed.

2.3 EXTERNAL TERMINATION:

The use of an externally-run condensate drainage pipe, terminating at a suitable foul water
discharge point or purpose-designed soakaway, may be also be considered; however if this
termination method is chosen then the following measures should be adopted -

The pipe should be run internally as far as possible before going externally and the
pipe diameter should be increased to a minimum of 30mm ID (typically 32mm OD)
before it passes through the wall.

The external run should be kept as short as possible, taking the most direct and
“most vertical” route possible to the discharge point, with no horizontal sections in
which condensate might collect.

The external pipe should be insulated using suitable waterproof and weatherproof
insulation (“Class O" pipe insulation is suitable for this purpose)



sime

HHIC

HEATING & ROTWATER INDUSTRY COUNCIL

The use of fittings, elbows etc should be kept to a minimum and any internal “burrs”
on cut pipework should be removed so that the internal pipe section is as smooth as
possible.

The customer/householder should be advised that even with the above measures this type
of installation could freeze, and that if this were to occur then boiler shutdown could result,
requiring remedial action - possibly involving a chargeable engineer call-out.

Where there are likely to be extremes of temperature or wind-chill, the use of a proprietary
trace-heating system for external condensate drainage pipework, incorporating an external
frost thermostat, should therefore be considered. If such a system is used then the
installation instructions of the trace heating manufacturer and any specific recommendations
regarding pipe diameter, insulation, etc. should be followed. All other relevant guidance on
condensate drainage pipe installation should also be followed.

Other cold weather protection methods approved or endorsed by boiler manufacturers
and/or service organisations may be adopted if these are considered suitable by the parties
involved.

If an external soil/vent stack is used as the external termination then the connection method
shown in Figure 4 should be used, together with the measures on insulation etc. as
described above and shown in the diagram.

When a rain water downpipe is used as the termination (NB only permissible if this downpipe
passes to a combined foul and rainwater drainage system) an air break must be installed
between the condensate drainage pipe and the downpipe to avoid reverse flow of rainwater
into the boiler should the downpipe itself become flooded or frozen. Figure 5 shows a
suitable connection method.

Where the condensate drainage pipe is terminated over an open foul drain or gully, the pipe
should terminate below the grating level, but above water level, in order to minimise “wind
chill” at the open end. Pipe drainage will  be improved if the end is cut at 45° as opposed to a
straight cut. The use of a drain cover (such as those used to prevent blockage by leaves)
may offer further protection from wind chill. Figure 6 shows a suitable connection method.

Where the condensate drain pipe terminates in a purpose-designed soakaway (see BS
6798:2009 or boiler installation manual for soakaway design requirements) any above-
ground section of condensate drainage pipe should be run and insulated as described
above. Figure 7 shows a suitable connection method.

3. UNHEATED INTERNAL AREAS:

Internal condensate drainage pipes run in unheated areas such as lofts, basements and
garages should be treated as external pipe.

31



sime

HHIC

HEATING & HOTWATER INDUSTRY COUNCIL

NOTES

The Benchmark Commissioning Checklist (located at the back of the boiler
installation manual) should be completed as required to record details of the
condensate drainage pipe installation.

Where an external condensate drainage pipe is installed, the customer should be
made aware of the risks and consequences of its freezing and offered the option to fit
trace heating (or other measures approved by the boiler manufacturer or service
organisation).

Separate guidance has been published for householders on remedial actions which
can be taken if a condensate drainage pipe freezes. This may result in requests for
alteration to condensate drainage pipework, in which case the guidance above
should be followed.

In some instances (e.g. where an elderly person’s heating needs to be reinstated as

an emergency measure) condensate drainage pipes may have been cut in order to
bypass any blockage and allow re-ignition of the boiler, with condensate being
collected in a suitable container as a temporary solution.

While not unsafe, this is not recommended practice and if such action has been
taken then the condensate drainage pipe must be reinstated as soon as possible,
using the above guidance to reduce risk of freezing in future.



sime

HHIC

HEATING & HOTWATER INDUSTRY COUNCIL

Figure 1 - Connection of condensate drainage pipe to internal soil and vent stack

A WON -

O~NO O

Boiler

Visible air break

75 mm trap

Visible air break and trap not required if there is a trap with a minimum condensate
seal of 75 mm incorporated into the boiler

Soil and vent stack

Invert

450 mm minimum up to three storeys

Minimum internal diameter 19 mm

33



sime

HHIC

HEATING & ROTWATER INDUSTRY COUNCIL

Figure 2(a) - Connection of a condensate drainage pipe downstream of a sink, basin,
bath or shower waste trap

6

Key

1 Boiler

2 Visible air break

3 75 mm trap

4 Visible air break and trap not required if there is a trap with a minimum condensate
seal of 75 mm incorporated into the boiler. In this case the 100 mm is measured to the
trap in the boiler.

5 Sink, basin, bath or shower

6 Open end of condensate drainage pipe direct into gully 25 mm min below grating but
above water level; end cut at 45 °

7 Sink lip

8 Minimum internal diameter 19 mm

9 Pipe size transition

10 Minimum internal diameter 30 mm

11 Water/weather proof insulation




sime

HHIC

HEATING & HOTWATER INDUSTRY COUNCIL

Figure 2(b) - Connection of a condensate drainage pipe upstream of a sink, basin, bath
or shower waste trap

ey

oA wWN X

O oo~N®

75
/
>?

5
Boiler
Visible air break at plug-hole
75 mm sink, basin, bath or shower waste trap
Sink, basin, bath or shower with integral overflow
Open end of condensate drainage pipe direct into gully 25 mm min below grating but

above water level; end cut at 45 °
Minimum internal diameter 19 mm
Pipe size transition

Minimum internal diameter 30 mm
Water/weather proof insulation

35



sime
HEATING & HOTWATER INDUSTRY COUNCIL

Figure 3 - Connection of a condensate pump - typical method (NB manufacturer’s detailed
instructions should be followed).

¥

22mm @ g

AN

Key

1 Condensate discharge from boiler.

2 Condensate pump

3 Visible air break at plug hole.

4 Sink or basin with integrated overflow.
5 75mm sink waste trap.

36



sime

HHIC

HEATING & ROTWATER INDUSTRY COUNCIL

Figure 4 - Connection of condensate drainage pipe to external soil and vent stack

APON -

[e2Né)]

Boiler

Visible air break

75 mm trap

Visible air break and trap not required if
there is a trap with a minimum condensate
seal of 75 mm incorporated into the boiler.

Soil and vent stack
Invert

450

450 mm minimum up to three storeys
Minimum internal diameter 19 mm
Pipe size transition point

Minimum internal diameter 30 mm

Water/weather proof insulation

37



38

sime

HHIC

HEATING & HOTWATER INDUSTRY COUNCIL

Figure 5 - External termination to rainwater downpipe (NB only combined foul/rainwater drain)

ey

obhw N X

<

Condensate discharge pipe from boiler
Pipe size transition point

Water/weather proof insulation

43 mm 90° male/female bend

External rain water pipe into foul water
External air break

10
11

LA
[

Air gap

68 mm %] PVCu strap-on fitting
Minimum internal diameter 19 mm
Minimum internal diameter 30 mm
End cutat45°




sime

HHIC

HEATING & ROTWATER INDUSTRY COUNCIL

Figure 6 - External drain, gully or rainwater hopper

10

Boiler

Visible air break

38 mm minimum trap

Visible air break and trap not required if there is a trap with a minimum condensate
seal of 38 mm incorporated into the boiler

External length of pipe 3 m maximum

A ON -~

[e2N¢)]

above water level; end cut at 45 °

Minimum internal diameter 19 mm

Pipe size transition point

Minimum internal diameter 30 mm
0 Water/weather proof insulation

= © 00 N

Open end of condensate drainage pipe direct into gully 25 mm min below grating but

39



sime

HHIC

HEATING & HOTWATER INDUSTRY COUNCIL

Figure 7 - Example of a purpose-made soakaway

8 1) >500
| 11
1
7 10 ‘ /2
Y

Key

Condensate discharge pipe from boiler

Ground (this section of the condensate drainage pipe may be run either above or
below ground level); End cut at 45 °

Diameter 100 mm minimum plastic tube

Bottom of tube sealed

Limestone chippings

Two rows of three 12 mm holes at 25 mm centres, 50 mm from bottom of tube and
facing away from house

Hole depth 400 mm minimum by 300 mm diameter

Minimum internal diameter 19 mm

Pipe size transition point

Minimum internal diameter 30 mm

Water/weather proof insulation

N —

ook Ww

2 0o~
~ o




sime

8 APPENDIX 2 (VENTILATION GUIDENCE)

Ventilation Requirements for Murelle Equipe 220 - 660 Cascade
This information is provided for guidance only

BS6644:2005 requires the temperatures in the room or compartment not to exceed certain levels:

25°C up to 100 mm from floor level

32°C 1500 mm above floor level

40°C 100 mm from ceiling level

The following provided for guidance only, and assumes the ventilation air is taken directly from outside. The size of the vents may
need to be increased in respect of other appliances installed in the same area, and seasonal use. Take care that the position of
low level vents would not be subject to adverse weather conditions, i.e. flooding.

When installed as a class B appliance (opened flue, not room sealed).

Installed in a room

High level, within 15% of room height from the ceiling = 2 cm=2 per Kw net heat input (Nominal)

Low Level, low as possible within G20 - 1000 mm G31 - 250 mm = 4 cm? per Kw net heat input (Nominal)

Each model requirement for their net heat input is:

Murelle Equipe Cascade

220 high 436 cm? low 872 cm2

330 high 648 cm? low 1296 cm?
440 high 846 cm? low 1728 cm?
550 high 1080 cm2 low 2160 cm?
660 high 1296 cm2 low 2592 cme

Installed in @ compartment or enclosure

High level, within 15% of room height from the ceiling = 5 cm=2 per Kw net heat input (Nominal)

Low Level, low as possible within G20 - 1000 mm G31 - 250 mm = 10 cm?2 per Kw net heat input (Nominal)
Each model requirement for their net heat input is:

Murelle Equipe Cascade

220 high 1090 cm2 low 2180 cm2
330 high 1620 cm2 low 3240 cm?
440 high 2160 cm? low 4320 cm?
550 high 2700 cmz low 5400 cm?
660 high 3240 cm? low 6480 cm?

When installed as a class C appliance (room sealed)

Installed in a room

High level, within 15% of room height from the ceiling = 2 cm=2 per Kw net heat input (Nominal)

Low Level, low as possible within G20 - 1000 mm G31 - 250 mm = 2 cm? per Kw net heat input (Nominal)
Each model requirement for their net heat input is:

Murelle Equipe Cascade

220 high 436 cm? low 436 cm?
330 high 648 cm? low 648 cm?
440 high 846 cm? low 846 cm?
550 high 1080 cm2 low 1080 cm?
660 high 1296 cm2 low 1296 cm?

Installed in @8 compartment or enclosure

High level, within 15% of room height from the ceiling = 5 cm=2 per Kw net heat input (Nominal)

Low Level, low as possible within G20 - 1000 mm G31 - 250 mm = 5 cm? per Kw net heat input (Nominal)
Each model requirement for their net heat input is:

Murelle Equipe Cascade

220 high 1090 cm2 low 1090 cm?
330 high 1620 cm? low 1620 cm?
440 high 2160 cm? low 2160 cm?
550 high 2700 cmz low 2700 cmz
660 high 3240 cm? low 3240 cm?

41



42

sime

NOTES







sime

Fonderie Sime S.p.A - Via Garbo, 27 - 37045 Legnago (Vr)
Tel. +39 0442 631111 - Fax +39 0442 631292 - www.sime.it

- 04/2013 - Documentation Dpt.

Cod. 6322710



